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(
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2) +ex(x=3) ol FFAHD W, FF ab,c A Fa+b+c e
o7

O @ 3 ® 6 @ 9 ® 12

S8 ~
S

x=02 YUslH 18 = —6a°llA a=3

x =32 Y35HHE 30 = 156014 b =2

x=-22 tA5HH —40 = 10coN A ¢ = —4
“a+b+c=34+2+(4)=1




O flx) = x3 - 202 + 3x - 45 A x + 12 YH3& 1Y
U2 & 6T

D)-10 @ 10 ® -4 @ 4 ® 0




6. THIA f(x)2 2 + 3x+ 22 UrH Y Fo] 3x—40]3, L 47}
2x -+ 50191ek. o] w, £(1) 9] Zhe?
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ohe o] ANl A Rl Y
olZ Uty AL A9 A ), v
o] A%

® -2 @ -1 ® 0 @)

(x 4+ 4y)(3x) = (x + y)(x =)
= 3x% 4+ 12xy — x% + 2
=2x% + 12xy + )2




8. = -SAe] ko] gholl BAglel B4 AHE W, xy ol k& FStofzt

(2k+3)x+ Bk—1)y+5k—-9=0

kol tiste] Wz = A std
(2x+3y+5)k+ (3x—y-9)=0
o|AL kol tigt FSAlolEr
2x+3y+5=0

3x—-y—-9=0

AYLHAS EH =2, y=-3
L xy=2x(-3)=-6




A 6% — 7a% + 17x - 32 3x - 22 Uie 52 O(x), YHAE R
ozt & ui, 0(1) + RS gk F-atolet.

> E

> =gt 13

6x3 —7x2+17x -3 = (3x-2)0(x) + R
FH x =12 HASHH, 13 = Q(1) +R
~ O(1)+R=13

6x3 —Tx2 +17x - 32 3x—22 AA AU 2 HAHE o] &

ste] Bot A1 78 4 Uk




10.

10|t} o]
DO x+3 @—x—i—i’) ® x-3
@ —x-3 ® —x+1

F)Ex-1, x—22 Lhe UeAE 22t 2, 10|22
f(1) =2,£(2) = 1, 75t= UHAE ax + b} SHAL
f(x)=(x*-3x+2)0(x) +ax+b
=(x-1)(x-2)0(x)+ax+b
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=(x2+2x-3)Q(x) +2x+ 1

b, ke U AlE 204 1




16. 94 /(0% (r- ) 2 1o 58 o(v), U141 S ROl &
W g B £(0 8 Br- 22 ol el 3 el

® Q9(x), R @ 30(x), R ® Q(x), 3R
@00, R ® Q). 1R

- (3x—2)%Q(x) +R
SEEE It
B 20() HolA - R




IH
~K
min
<=
Cl
X
on
o
<
ﬂmo
—_
N
<
=
o
—
I
=
N
I

n/.
5x ‘_.m:,._
[y
=
S~ qfu
<R
.,
10° o1
TS
or <k
= X°

17.

)

0Es -2

a

0E=1

a

(a\]

Il
ﬂ S
s X
T M
3
p

—
I
RS
o+
S —
[
—
I~
~— —
—
S~—
(g
—
B =
S~—




18. A4 919 % A A(a),B(b)(a > b)Atolo] A ABE 5013
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